Adding Integers (B)

Use an integer strategy to find each answer.

-10+-18 = 21+-9= -19+7 =
7+4= -6+9= 11 +-2=
-18+-18 = -14 + -2 = 24 +-20 =
-12+-8= 13+5= 24 +-11 =
-10+ 22 = 22+ 24 = -19+-5=
4+10= 19 +-20= 25+ 7=

7+-9= 20+ 22 = 20+-11 =
-1+18= -24 + -24 = 3+-7=

4 +-16= 9+-9= 21+ 21 =
-15+-25= 4 +-15= -18 + 21 =
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Subtracting Integers (B)

Use an integer strategy to find each answer.

3-19 = 6--21= 14--3=
19-7= 3--20= 5.-22 =
8--13 = 9-8= -9--21=
6-17 = 2-22= -12-13 =
5--16 = 10--2= -22-23=
7-4= 13--7= -23--14=
16--2= 10 - 25 = 3-13 =
20 --16 = 12-10 = 4-2=
13--19 = 9--9= 4--11=
23-19 = 9-11= 8-9=
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Multiplying Integers (A)

Find each product.

—

Tt e M ™

(=5)x1=

1 x8

—

—

—

8§x(-3)=

e

——

S

—

FI e e

S e T

4 x4

Ix(-2)=

P T T T

et it i T Cm® v e

(—8) x 6=
4x0=

P e e

3x(-9)=
0x8

(—2) x6=

S5x4

_5)=

S

0 x

x 6=

—

(6

S

Ix9=

8§ x9

(-1)x2=
)

x(=2)=

——

(-5
5



Dividing Integers (A)
Find each quotient.
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